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2000Bq kg% iBZ5HLDO5H 500Bq./ keZBZ5LDIH
_ B BIEFER
S RER B BF HEniEsE Ao %F-131 ) L-134 9 Li-137
(Ba. kg) (Bag. kg) (Bakg)
A= 23.5.26 [RARLUL=(H(EEH) ND 280 300
HEST 23.5.26 [FRARLUL=H(EE D) ND 1300 1400

FEH 23.5.26 [RARLUL=(H(EEH) ND 51 55

HERHET 23.5.26 [RARLUL=H(EE D) ND ND ND

T 4ERET 23.5.26 HoU(EEH) ND ND ND

==l 23.5.26 HLU(EEH) ND ND ND

FASERT 23.5.26 HFAELNEEHR) ND ND ND

BRI 23.5.26 SE(FEH) ND ND ND

Y| ACHT 23.5.26 S E(FE#) ND ND ND

HREH 23.5.26 SE(E#) ND ND ND
= HPFELBLE

=% 01 23.5.26 (=) () ND ND ND
e AHOFELSLE

HEEAHET 23.5.25 (=) () ND ND ND
i AHPFELSE

LR IE ] 23.5.26 () (F ) ND ND ND

SEERMET 23.5.26 ShIXHZ5(EEh) ND ND ND
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AERER
5 ERER B BF AenEE 3%-131 i Li-134 L) L-137
(Bq kg) (Bakeg) (Bq kg)

=5 23.5.26 IDIEHES(FEH) ND ND ND

KEHR 23.5.26 REMNYT=IT ND 71 73

AT 23.5.26 RENYFIT ND 13 14

¥ ACHT 23.5.25 REMLYLIT ND 20 25
LN ET =FNET 23.5.26 f=iIrd ND 220 240
HET 23.5.26 f=lTm ND 270 320
FEM 23.5.26 fzIFnZ ND 340 370
REH 23.5.26 =D ND 180 200

THEF 23.5.26 f=lTm ND 48 65
=&HT 23.5.26 f=lItm ND 190 180
AMEET 23.5.26 fzIFmZ ND 1300 1400
A= 235.26 fzitoC ND 310 360
= R &7 23.5.26 f=lTd ND 310 320
JN{RET 23.5.26 f=lTdZ ND 470 460
Eip S 23.5.26 t=+toZ ND 120 140
REH 23.5.26 =it ND 320 350

THEF 23.5.26 fzltm ND 71 64




